Format for Advertisement in Website

Notice for appointment of Regular / Rural Retail Outlet Dealerships

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Manipur, as per following details

					Category (SC/SC CC									
SL NO	Name Of Location	Revenue District	Type of RO (Regular/ Rural)	Estima ted month ly Sales Potent ial (MS+H SD) in Kls	1/SC PH/ST/ST CC 1/ST PH/OBC/O BC CC 1/OBC PH/OPEN/ OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/ CFS)	Minim um Fronta ge of Site (in M)	Minim um Depth of Site (in M)	Minim um Area of site (in Sq. M.)	ed working capital require ment for operatio n of RO (Rs in Lakhs)	Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bid ding)	Fixed Fee / Min bid amo unt (Rs in Lakh s)	Secur ity Depo sit (Rs in Lakh s)
1	URIPOK CANTEEN- SANAKEITHEL ROAD (FROM URIPOK CANTEEN JUNCTION TO FISHERY GATE, LAMPHELPAT)	IMPHA L WEST	Regular	110	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
2	MEITEI LANGOL ON MEITEI LANGOL ON MEITEI LANGOL NINGTHOU ROAD (2.5 KM FROM SHIJA HOSPITAL JUNCTION, ON THE LEFT SIDE WHILE GOING FROM SHIJA HOSPITAL JUNCTION TO GAME VILLAGE)	IMPHA L WEST	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
	KONGBA, 2 KM FROM KONGBA BRIDGE ON	IMPHA	-									Draw of		
3	IMPHAL YARIPOK ROAD ELANGKHANGPOKPI ON WABAGAI SUGNU ROAD, SH (3 KM FROM ELANGKHANGPOKPI ENTRANCE TOWARDS SUGNU ON THE SH)	KAKCH ING	Regular Regular	150 115	OBC OPEN	DC DC	35 30	35 30	900	25 25	60	Lots Draw of Lots	15 15	5
5	BABU BAZAR, THOUBAL ON IMPHAL MOREH ROAD, NH-02 (WITHIN 1.5 KMS EITHER SIDE OF BABU BAZAR)	THOUB AL	Regular	160	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
6	KHONGMAN - BASHIKHONG ON KHONGMAN- BASHIKHONG-KONGBA ERONG ROAD(4 KM FROM KHONGMAN MANJIL TO BASHIKHONG ON THE WESTERN SIDE OF ROAD)	IMPHA L WEST	Rural	48	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
7	TORBUNG BANGLA ON IMPHAL-TIDDIM ROAD, NH-150 (WITHIN 1.0 KM FROM BOARDER SECURITY FORCE OUTPOST TOWARDS KANGVAI)	CHURA CHAND PUR	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
8	MALOM ON IMPHAL- TIDDIM ROAD, NH (2 KM FROM MALOM DEPOT ENTRANCE GATE TOWARDS NAMBOL ON NH-150)	IMPHA L WEST	Regular	180	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
9	OINAM ON IMPHAL- TIDDIM ROAD, NH-150 (3 KM FROM JAPANESE WAR MEMORIAL GATE TOWARDS BISHNUPUR)	BISHN UPUR	Regular	155	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5

	YUMNAM KHUNOU ON IMPHAL -SAIKUL ROAD, SH (WITHIN 1.0 KM RADIUS ALONG THE													
10	ROAD FROM M/S NJB BRICK INDUSTRIES ENTRANCE GATE)	IMPHA L EAST	Regular	105	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
	WANGOI ON MAYAILAMBI ROAD (3 KM FROM WANGAOI POLICE STATION TOWARDS MAYANG	IMPHA L										Draw of		
11	IMPHAL) SEKMAIJIN ON MAYANG	WEST	Regular	155	OPEN	DC	35	35	1225	25	75	Lots	15	5
12	IMPHAL- WABAGAI ROAD, (3 KM FROM SEKMAIJIN BRIDGE TOWARDS MAYANG IMPHAL) ON SH	IMPHA L WEST	Regular	150	OBC	DC	30	30	900	25	75	Draw of Lots	15	4
	WANGKHEI- AYANG PALLI ROAD, SH (1 KM FROM JNIMS MAIN ENTRANCE GATE TOWARDS EDEN PUBLIC	IMPHA										Draw of		
13	SCHOOL, WANGKHEI) KOIRENGEI ON IMPHAL-	L EAST	Regular	100	OPEN	DC	30	30	900	25	45	Lots	15	5
14	DIMAPUR ROAD, RHS OF NH-02 (WITHIN 3 KM FROM KOIRENGEI CROSSING TOWARDS MANTRIPUKHRI)	IMPHA L WEST	Regular	160	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
	HENGBUNG ON IMPHAL													
15	- DIMAPUR ROAD (3.5 KM FROM FCI GODOWN TOWARDS SENAPATI)	KANGP OKPI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	MAHARABI ON DIMAPUR - IMPHAL ROAD (4.5 KM FROM SEKMAI POLICE													
	STATION TOWARDS IMPHAL, ON THE BOTH	IMPHA L										Draw of		
16	SIDES) YANGANGPOKPI ON	WEST	Regular	150	OPEN	DC	35	35	1225	25	75	Lots	15	5
17	IMPHAL- UKHRUL ROAD (5 KM FROM YANGANGPOKPI POLICE STATION GATE TOWARDS IMPHAL ON	IMPHA L EAST	Regular	150	OPEN	DC	35	25	1225	25	75	Draw of	45	E
17	NH- 150) MOULVAIPHEI VILLAGE ON THE CHURACHANDPUR -	LEASI	Regular	158	OPEN	DC	35	35	1225	25	75	Lots	15	5
	SUGNU ROAD (WITHIN 4 KM FROM CHURACHANDPUR POLICE STATION TOWARDS	CHURA CHAND										Draw of		
18	MOULVAIPHEI ON SH)	PUR	Regular	110	ST CC 1	CFS	30	30	900	0	0	Lots	0	3
19	THOUBAL BAZAR (3KM FROM THOUBAL DISTRCT POLICE HQ TOWARDS IMPHAL)	THOUB AL	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	TENGNOUPAL ON NH-02 (3 KM FROM TENGNOUPAL DISTRICT HQ TOWARDS MOREH) ON EITHER SIDE OF NH-	TENGN										Draw of		
20	02 CHURACHANDPUR	OUPAL	Regular	150	ST	CFS	35	35	1225	0	0	Lots	0	3
	TOWN (WITHIN 3 KM FROM CHURACHANDPUR POLICE STATION TOWARDS NEW LAMKA	CHURA CHAND										Draw of		
21	ON NH-102 B BUNGMUAL ON	PUR	Regular	157	OPEN	DC	35	35	1225	25	75	Lots	15	5
22	TIPAIMUKH ROAD ON NH-150 (WITHIN 3 KM FROM CCPUR POLICE STATION TOWARDS TIPAIMUKH)	CHURA CHAND PUR	Regular	155	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
	PALLEL ON NH-2, 3 KM FROM PALLEL POLICE STATION TOWARDS KAKCHING LAMKHAI ON		. rogalal	.50	O. LIT	20				20				, ,
23	EITHER SIDE OF THE ROAD	KAKCH ING	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
24	JIRIBAM TOWN ON IMPHAL JIRIBAM ROAD NH-37 (5 KM FROM JIRIBAM POLICE STATION TOWARDS IMPHAL ON NH-37)	JIRIBA M	Regular	160	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
				100	555	20	00		.220	20	,,,	2010		

25	UKHRUL TOWN ON UKHRUL JESSAMI ROAD (5 KM FROM DUNGREI JUNCTION TOWARDS JESSAMI ON NH-150)	UKHRU L	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	NONEY TOWN (3 KM FROM IYEI BRIDGE TOWARDS IMPHAL ON											Draw of		
26	NH-37 ANKHASUO(SIBAPURIKH AL) ON JIRI-TIPAIMUKH ROAD, SH(7 KM FROM	NONEY	Regular	150	ST	CFS	35	35	1225	0	0	Lots	0	3
27	KHARKHUPLIEN JUNCTION TOWARDS JIRIBAM)	PHERZ AWL	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
28	PUDUNAMEI, MAO GATE(3 KM FROM ASUFII CHRISTIAN INSTITUTE JUNCTION TOWARDS KIDIMA VILLAGE (NAGALAND) NOT ON NATIONAL HIGHWAY.)	SENAP ATI	Rural	65	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
20	MERRYLANE, OLD TAMENGLONG ON TAMENGLONG TOUSEM ROAD (3 KM FROM RANI GAIDINLIU COMMUNITY HALL TOWARDS BARAK	TAMEN	Donal	F0	4	25	,	05	905		0	Draw of	0	
29	RIVER) THUIZANG VILLAGE (2 KM FROM SANGAITHEL BAZAR TOWARDS KOIRENG GOVT	IMPHA L	Rural	52	ST	CFS	25	25	625	0	0	Lots Draw of	0	2
30	SCHOOL. PATSOI ON NH-37,	WEST	Rural	60	ST	CFS	25	25	625	0	0	Lots	0	2
31	WITHIN 3 KM FROM KM STONE NO. 6 ON NH-37 TOWARDS JIRIBAM ON EITHER SIDE OF THE ROAD.	IMPHA L WEST	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
32	KEINOU ON NH 150, WITHIN 1.5 KM FROM KEINOU THONGKHA MAKAH LEIRAK CROSSING TOWARDS IMPHAL, ON THE RIGHT HAND SIDES OF NH-150.	BISHN UPUR	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
33	LAMSANG ON EITHER SIDE OF URIPOK KANGCHUP ROAD (5 KM FROM LAMSANG BRIDGE TOWARDS KANGCHUP)	IMPHA L WEST	Regular	155	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
34	SWOMBUNG ON IMPHAL- UKHRUL ROAD (3.5 KM FROM SWOMBUNG BRIDGE TOWARDS LAMLAI BAZARL ON NH- 150)	IMPHA L EAST	Regular	159	OBC CC	DC	35	35	1225	25	75	Draw of Lots	15	4
3.	KAKWA ON IMPHAL - MOREH ROAD(3 KM FROM MU GATE	IMPHA L									70	Draw of	10	-
35	TOWARDS IMPHAL) SANGAIKOT VILLAGE ON KHUANGKHAI ROAD. 2	WEST	Regular	160	OPEN	DC	35	35	1225	25	75	Lots	15	5
36	KM FROM SANGAIKÓT POLICE STATION TOWARDS KHUANGKHAI VILLAGE	CHURA CHAND PUR	Rural	52	OPEN CC 1	DC	25	25	625	12	30	Draw of Lots	5	4
	SINGHAT VILLAGE ON SINGHAT - ZOUKHONUAM ROAD, 2 KM FROM SINGHAT POLICE STATION TOWARDS	CHURA CHAND										Draw of		
37	ZOUKHONUAM VILLAGE USHOIPOKPI, FROM	PUR	Rural	48	ST	CFS	25	25	625	0	0	Lots	0	2
38	TAMYAI SHUMANG JUNCTION TO LILONG DAM ON USHOIPOKPI- LILONG DAM ROAD	THOUB AL	Rural	55	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
39	CHAORA KAZIPPHUNG ON NH-150(8 KM FROM LUNGSHANG KONG TOWARDS UKHRUL)	UKHRU L	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
40	KAKCHING TOWN (3 KM FROM CENTER OF WABAGAI BAZAR TOWARDS KAKCHING BAZAR)	KAKCH ING	Regular	150	OBC	DC	30	30	900	25	75	Draw of Lots	15	4

	SAIKUL TOWN WITHIN 2	Ī	Ī	Ī	I	Ī			1	Ì	İ	Ī	Ī	1 1
	KM FROM SAIKUL													
	POLICE STATION TOWARDS EKOU ON	KANGP		404	0.7	050						Draw of		
41	THE SAIKUL ROAD-SH MACHI ON KAKCHING	OKPI	Regular	101	ST	CFS	30	30	900	0	0	Lots	0	3
	LAMKHAI -MACHI ROAD (3 KM FROM LANGOL													
42	VILLAGE TOWARDS	CHAND	Dural	64	CT	OF C	25	25	COF	0	0	Draw of	0	
42	MACHI)	EL	Rural	64	ST	CFS	25	25	625	U	0	Lots	0	2
	PHOIJING-KOKYAI ON PHADIBI ROAD (3 KM													
43	FROM BAPTIST EVANGELICAL CHURCH)	BISHN UPUR	Rural	64	ST CC 1	CFS	25	25	625	0	0	Draw of Lots	0	2
43	KOMLATHABI ON	OI OIC	rturai	04	01 00 1	010	25	25	023	Ü		Lots		
	CHANDEL ROAD, 3 KM FROM SEMCO,													
44	KOMLATHABI TOWARDS CHANDEL)	CHAND EL	Regular	150	ST CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
	TERA UTHAK - LAIRENSAJIK VILLAGE (3													
	KM FROM THE TERA													
	UTHAK BIFURCATION JUNCTION FROM THE	IMPHA												
45	IMPHAL-KANGCHUP ROAD)	L WEST	Rural	60	OPEN	DC	25	25	625	12	30	Draw of Lots	5	4
	WINITANG EAST (WITHIN 2 KM FROM													
	UKHRUL POLICE STATION TOWARDS													
46	TANGKHUL NAGALONG	UKHRU	Dogulos	100	CT DU	CFS	20	20	000	0	0	Draw of	0	_
40	GROUND) PHEIJALEITONG,	L	Regular	100	ST PH	UFO	30	30	900	0	0	Lots	0	3
	THONJU A/C PART 1 ON PHEIJALEITONG ROAD													
	(IVR), WITHIN 2 KM FROM THE JUNCTION													
47	OF NH-02 ON THE PHEIJALEITONG ROAD	IMPHA L EAST	Rural	58	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	LAMDING ON WANGJING - TENTHA ROAD,												·	·
	WITHIN 3 KM FROM THE													
	TENTHA LAMKHAI (OPPOSITE TO YK													
	COLLEGE NH 02) ON EITHER WANGJING	THOUB										Draw of		
48	TENTHA ROAD KHABAM LAMKHAI ON	AL	Rural	52	OPEN	DC	25	25	625	12	30	Lots	5	4
	IMPHAL-DIMAPUR ROAD, LHS OF NH-02 (WITHIN 3													
	KM FROM KOIRENGEI CROSSING TOWARDS	IMPHA										Draw of		
49	MANTRIPUKHRI)	L EAST	Regular	160	OPEN	DC	35	35	1225	25	75	Lots	15	5
	HENGJANG VILLAGE ON IMPHAL-DIMAPUR ROAD													
	NH-02 , 3 KM FROM THE SBI OFFICE,													
	SAPORMEINA BAZAR TOWARDS IMPHAL ON	KANGP										Draw of		
50	BOTH SIDES OF NH-02 KOITE VILLAGE ON	OKPI	Regular	160	OBC PH	DC	35	35	1225	25	75	Lots	15	4
	NH150, 3 KM FROM THE													
	TUIBUONG SERVICE STATION TOWARDS	CHURA										l		
51	IMPHAL ON BOTH SIDES OF NH-150	CHAND PUR	Regular	160	OPEN CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
	MONGSANGEI ON NH- 137-A IMPHAL-]		
	MAYANGIMPHAL ROAD, 5 KM FROM KEISAMPAT	IMPHA												
52	JUNCTION TOWARDS MAYANG IMPHAL	L WEST	Regular	175	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
32	KACHAI, 3 KM FROM		ogulai	.,,	J. LIV		- 55		.225	20		2013		Ť
	KACHAI BAPTIST CHRUCH TOWARDS													
	KACHAI HIGH SCHOOL ON KACHAI TO KACHAI													
53	GOVT. HIGH SCHOOL ROAD	UKHRU L	Rural	50	OPEN CC 2	DC	25	25	625	12	30	Draw of Lots	5	4
	UTLOU ON IMPHAL TIDDIM ROAD (NH-150), 3													
	KM FROM NAMBOL POLICE STATION													
 	TOWARDS IMPHAL ON	BISHN	Domite:	455	ODEN	500	25	25	1005	0.5	75	Draw of	45	_
54	RHS WANGJING FROM	UPUR	Regular	155	OPEN	DC	35	35	1225	25	75	Lots	15	5
	KODOMPOKPI GROUND TOWARDS KHONGJOM													
55	BAZAR ON BOTH SIDES OF NH-02	THOUB AL	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
	YAIRIPOK TULIHAL ON OLD KAINA ROAD, 1.5		J			-								
	KM EITHER SIDE OF	IMPHA	Buro!	E^	OPEN	DC	25	25	605	10	20	Draw of	F	,
56	YAIRIPOK GOVT	L EAST	Rural	50	OPEN	DC	25	25	625	12	30	Lots	5	4

1	PRIMARY SCHOOL	1												
57	WAITON ON WAITON - CHINGAREL ROAD, 3 KM FROM WAITON LAMKHAI OF IMPHAL- PANGEI ROAD	IMPHA L EAST	Rural	57	OBC CC	DC	25	25	625	12	30	Draw of Lots	5	3
58	CHANGANGEI ON CHANGANGEI TOUBUNGKHOK MAYAILAMBI ROAD, 3 KM FROM CHANGANGEI PUBLIC HEALTH SUB CENTRE TOWARDS YUREMBAM GRID POWER STATION	IMPHA L WEST	Rural	70	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	LAMPHELPAT ON LANGOL ROAD, 2 KM FROM KENDRAVIDYALAYA SCHOOL LAMPHELPAT ON RIGHT HAND SIDE TOWARDS PUBLIC HEALTH SUB CENTRE,	IMPHA L										Draw of		
59 60	LANGOL TARUNG THAROIJAM ON IMPHAL- SANGAITHEL ROAD , 5 KM FROM M/S HIGHWAY GAS AGENCY PATSOI PART-1 ON IMPHAL- SANGAITHEL ROAD	IMPHA L WEST	Regular	110 50	OBC	DC DC	30 25	30 25	900	25 12	45 30	Lots Draw of Lots	15 5	3
61	KHONGMAN- UCHEKON AREA (WITHIN 3 KM FROM KHONGMAN HIGH SCHOOL PASSING ALONG KHONGMAN CHANNEL TOWARDS	IMPHA	Dural	F0	OPEN	5	25	25	625	12	20	Draw of	-	4
61	YUVRAJ PALLI ROAD) WANGKHEM YAIRIPOK ROAD, WITHIN 5 KM FROM MELA GROUND JUNCTION TOWARDS YAIRIPOK ON THE WANGKHEM-YAIRIPOK	THOUB	Rural	50		DC	25	25			30	Lots Draw of	5	
63	ROAD LILONG, WITHIN 3 KM FROM LILONG POLICE STATION GATE TOWARDS THOUBAL ON NH-02	THOUB	Regular Regular	160	OPEN OPEN	DC DC	30 35	30 35	900	25 25	60 75	Lots Draw of Lots	15 15	5
64	MOJJING ON MI ROAD, 3 KM FROM NEW LIGHT PUBLIC SCHOOL, MOJJING BAZAR TOWARDS THOUBAL NINGOMBAM ON THE MI ROAD	Thoubal	Rural	60	OPEN	DC	25	25	625	12	30	Draw of Lots	5	4
65	NGARIAN VILLAGE, 4 KM FROM THONGJAOROK BRIDGE ON THE OLD CACHAR ROAD/TONGJEIMARIL ROAD	CHURA CHAND PUR	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
66	THAMBALKHONG, 2 KM FROM THAMBALKHONG HIGHSCHOOL ON THAMBALKHONG- KHERGOA ROAD LANGTHABAL, 2 KM	IMPHA L EAST	Rural	50	OPEN	DC	25	25	625	12	30	Draw of Lots	5	4
67	FROM MANIPUR UNIVERSITY MAIN GATE, LEFT HAND SIDE, TOWARDS MOREY ON INDO-MYNMAR ROAD KHURAI. 2.5 KM FROM	IMPHA L EAST	Regular	160	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
68	KHURAI- LAMLONG BAZAR CROSSING, BOTH SIDES ON IMPHAL-UKHURAL ROAD, ANDRO, WITHIN 2 KMS	IMPHA L EAST	Regular	175	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
69	FROM ANDRO POLICE STATION ON ANDRO- NAPETPALLI ROAD YAIRIPOK -ANGTHA,	IMPHA L EAST	Rural	60	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
70	WITINH 2.5 KM FROM YAIRIPOK BAZAR JUNCTION ON IMPHAL- YAIRIPOK ROAD SENDRA ON SENDRA	IMPHA L EAST	Regular	175	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
71	ROAD, WITHIN 2 KM FROM SENDRA LAMKHAI	BISHN UPUR	Rural	110	OPEN	DC	25	25	625	12	30	Draw of Lots	5	4
72	MOIRANG KUMBI ROAD, 3 KM FROM EBUDHOU	BISHN UPUR	Regular	120	OBC	DC	30	30	900	25	60	Draw of Lots	15	4

	THANGJING LAISHANG													
73	SAYANG ON SAYANG ROAD FROM KEBOL HIGH SCHOOL TO KWAKEITHEL JUNCTION	IMPHA L WEST	Regular	120	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
74	LUKRAM LEIRAK, 2.0 KM FROM NH37 JUNCTION ON LUKRAM LEIRAK-FCI ROAD	IMPHA L WEST	Rural	100	OPEN	DC	25	25	625	12	30	Draw of Lots	5	4
74	AWANG JIRI ON NAMBOL HEIKRUJAM ROAD, 1.6 KM FROM HEIKRUJAM LAIHARAOBAM TO RADHAKRISHNA	IMPHA L	Ruidi	100	OFEN	ВС	23	23	625	12	30	Draw of	5	4
75	TEMPLE	WEST	Rural	70	OPEN	DC	25	25	625	12	30	Lots	5	4
76	PHEIDINGA - LEIMAKHONG ROAD ,FROM LEIMAKHONG GARRISON GATE TO PHEIDINGA BUS STOP	IMPHA L WEST	Regular	105	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
77	Imphal -Jiribam Road (NH- 37) , 3 KM from Laksmi kitchen on both sides of the Imphal -Jiribam Road (NH-37)	IMPHA L WEST	Regular	170	OBC	DC	30	30	900	25	75	Draw of Lots	15	4
78	Imphal -Jessami Road, 20 KM from Zero Point towards Ngahui Junction	Ukhrul	Regular	150	OPEN CC 2	DC	30	30	900	25	75	Draw of Lots	15	5
79	KONGBA NONGTHOMBAM LEIKAI, 1 KM FROM KONGBA BRIDGE ON KINGBA PAGONG ANDRO ROAD	IMPHA L EAST	Rural	50	OPEN	DC	25	25	625	12	30	Draw of Lots	5	4
80	MAYANGN LANGJING ON EITHER SIDE OF MAYANGLANGJING - PHUMLO ROAD, (3 KM FROM MAYANG LANGJING COMMUNITY HALL TOWARDS PHUMLO AUTO PARKING)	IMPHA L WEST	Rural	50	OPEN	DC	25	25	625	12	30	Draw of Lots	5	4
	NINGTHEMCHA KARONG FROM KWAKEITHEL JUNCTION TO NINGTHEMCHA KARONG	IMPHA L										Draw of		
81	JUNCTION	WEST	Rural	50	OPEN	DC	25	25	625	12	30	Lots	5	4
82	KHONGSANG ON NH-37, WITHIN 1 KM RADIUS ALONG NH 37 FROM KHONGSANG JUNCTION	NONEY	Regular	151	OPEN CC	DC	30	30	900	25	75	Draw of Lots	15	5
83	THIYAM LEIKAI ON BISHNUPUR- MAYANG IMPHAL ROAD, 1.5 KM FROM JUNCTION OF BISHNUPUR TOWN MARKET	BISHN UPUR	Regular	106	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
84	IROISEMBA ON THE URIPOK -KANGCHUP ROAD (WITHIN 2.5 KM FROM NAOREMTHONG BRIDGE TOWARDS LAMSANG)	IMPHA L WEST	Regular	105	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5

[#] Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (www.bharatpetroleum.in/www.hindustanpetroleum.com/www.iocl.com/www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.